

Tabulation of Bids Page 1 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) DENVILLE LING		(2) TRAFFIC	LINES, INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	35,000.00000	35,000.00	35,000.00000	35,000.00		
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0004	153011M	1,950.000	0.80000	1,560.00	0.80000	1,560.00		
TRAINEE	S	HOUR						
0005	159003M	25.000	0.01000	0.25	1.00000	25.00		
BREAKA	WAY BARRICADE	U						
0006	159006M	25.000	0.01000	0.25	1.00000	25.00		
DRUM		U						
0007	159009M	1,500.000	1.00000	1,500.00	20.00000	30,000.00		
TRAFFIC	CONE	U						



Tabulation of Bids

Page 2 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.		
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
8000	159012M	500.000	0.01000	5.00	5.00000	2,500.00		
CONSTR	RUCTION SIGNS	SF						
0009	159027M	8.000	1,750.00000	14,000.00	1,000.00000	8,000.00		
ARROW	BOARD, 4' X 8'	U						
0010	159030M	6.000	100.00000	600.00	2,000.00000	12,000.00		
PORTAB SIGN	LE VARIABLE MESSA	AGE U						
0011	159108M	8.000	20,000.00000	160,000.00	20,000.00000	160,000.00		
_	CONTROL TRUCK VED CRASH CUSHION	VITH U						
0012	159141M	600.000	1.00000	600.00	1.00000	600.00		
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						



Tabulation of Bids

Page 3 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) DENVILLE L		(2) TRAFFIC	LINES, INC.		
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0013	MMR080M	800,000.000	0.01000	8,000.00	0.10000	80,000.00		
CLEARI	NG SITE	LF						
0014	610003M	1,425,000.000	0.48000	684,000.00	0.60000	855,000.00		
TRAFFIC	C STRIPES, 4"	LF						
0015	610006M	3,085,000.000	0.60000	1,851,000.00	0.85000	2,622,250.00		
TRAFFIC	C STRIPES, 6"	LF						
0016	610007M	345,000.000	1.00000	345,000.00	1.20000	414,000.00		
TRAFFIC	C STRIPES, 8"	LF						
0017	610060M	49,000.000	8.00000	392,000.00	8.00000	392,000.00		
TRAFFIC	C MARKINGS SYMBOLS	S SF						
0018	610013M	49,000.000	1.00000	49,000.00	1.00000	49,000.00		
TRAFFIC	C MARKING LINES, 4"	LF						



Tabulation of Bids

Page 4 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Line No / Item Desc			(1) DENVILLE LING		(2) TRAFFIC	LINES, INC.		
Alt Set / A	Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0019 6	610014M	100,000.000	1.75000	175,000.00	4.00000	400,000.00		
TRAFFIC M	ARKING LINES, 8"	LF						
0020 6	610017M	135,000.000	8.25000	1,113,750.00	10.00000	1,350,000.00		
TRAFFIC M	ARKING LINES, 24"	LF						
0021 6	610012M	300.000	32.50000	9,750.00	50.00000	15,000.00		
RPM, MONO	O-DIRECTIONAL, WI	HITE U						
0022 6	610018M	300.000	32.50000	9,750.00	50.00000	15,000.00		
RPM, MONO	O-DIRECTIONAL, NS	U						
0023 6	610021M	300.000	32.50000	9,750.00	50.00000	15,000.00		
RPM, BI-DIF LENS	RECTIONAL, AMBER	t U						



Tabulation of Bids Page 5 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0024	610024M	350.000	1.00000	350.00	10.00000	3,500.00		
REMOVA	L OF RPM	U						
0025	610027M	82,900.000	18.00000	1,492,200.00	17.00000	1,409,300.00		
REMOVA RPM LEN	AL AND REPLACEME	NT OF U						
0026	610036M	250,000.000	0.05000	12,500.00	0.65000	162,500.00		
REMOVA	L OF TRAFFIC STRI	PES LF						
0027	610039M	20,000.000	1.25000	25,000.00	3.00000	60,000.00		
REMOVA	L OF TRAFFIC MAR	KINGS SF						
0028	MMR065M	5,000.000	0.35000	1,750.00	1.50000	7,500.00		
PATTERI	AL OF LONG LIFE NED CONTRAST NT MARKINGS TAPE	LF E						



Tabulation of Bids Page 6 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Marking Contract North, Cycle 2 (2024)

Line No / Item ID Item Description		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0029 MMR067M	200,000.000	0.05000	10,000.00	1.00000	200,000.00		
REMOVAL OF TRAFFIC MARKINGS, LINES	LF						
0030 MMR083M	(1)	100,000.00000	100,000.00	100,000.00000	100,000.00		
MOBILE RETROREFLECTO SERVICE	METER LS						

Section Totals: \$6,502,065.50 \$8,399,760.00



Tabulation of Bids Page 7 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Marking Contract North, Cycle 2 (2024)

Line No / Item ID Item Description			LINE PAINTING, IC.	(2) TRAFFIC LINES, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0002 CONSTRUCTION ENGINEERING Cat Alt Set: Cat Alt Member:

 0003
 MMG018M
 30,000.000
 1.00000
 30,000.00

 FIELD OFFICE EQUIPMENT
 DOLL

Section Totals: \$30,000.00 \$30,000.00



Tabulation of Bids Page 8 of 8

Contract ID: 24411 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 07, 2023 District(s): N4

Call Order: 411 Project(s): STBGP-FLEX-D00S(664)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Marking Contract North, Cycle 2 (2024)

Line No / Item ID Item Description		(1) DENVILLE L	_	(2) TRAFFIC	LINES, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 NON-PARTICI		PATING	Cat Alt	Set:	Cat A	It Member:	
0002 152015P	1.000	15,000.00000	15,000.00	20,000.00000	20,000.00		
POLLUTION LIABILITY INS	SURANCE DOLL						
Section Totals:			\$15,000.00		\$20,000.00		
c		\$6,547,065.50		\$8,449,760.00			
Cos		\$6,547,065.50		\$8,449,760.00			

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 411 Contract ID: 24411 Counties: BERGEN, ESSEX,

HUDSON, MORRIS, PASSAIC, SUSSEX, UNION, WARREN

Letting Date: December 07, 2023 10:00 AM District(s): N4

Contract Time: 12/31/24 COMPLETION DATE

Contract Description: Long-Life Pavement Marking Contract North, Cycle 2 (2024) Project(s): STBGP-FLEX-

D00S(664)

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	DENVILLE LINE PAINTING, INC.	\$6,547,065.50	100.00%
2	TRAFFIC LINES, INC.	\$8,449,760.00	129.06%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.